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Sl. No.1
QBID:1007151

From among the four options given. choose the one which 1s a grammatically correct pair of
sentences.

(1) ‘Every family have a story. welcoming to ours’. These were the word insecribe on gold
in the sleeve of a big. black photo album that Ananya 1s hold in her hand.

(2) ‘Every families has a story. welcome in ours’. This were the words inscribed with gold
on the sleeves of a big. black photo album that Ananya will be holding by her hand.

(3) ‘Everv family had a stories. welcome to our’. These were a words inscribed 1n golden
on the sleeve of a big. black photo album that Ananyva was hold in her hand.

(4) ‘Everv family has a story. welcome to ours’. These were the words inscribed 1n gold on
the sleeve of a big. black photo album that Ananya was holding in her hand.

(1) 1
(2) 2
(3) 3
(4) 4

Fefefaa 8 3 9 97 =1 I=R T FE A R 7

1 @a (2) Tai
(3) O (4) =18

i }

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11101]
2[Option ID=11102]

3[Option ID=11103]
4[Option ID=11104]

Sl. No.2
QBID:1007152

Which of the following 1s a one-word substitute for “hard but liable to break™

(B Brittle (2) Frail
(3 Tenuous (4) DMNlortal
1) 1

(2) 2

(3) 3




(4) 4

(1) ke (2) U5
(3)  au (4) ==

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11105]
2[Option ID=11106]

3[Option ID=11107]
4[Option ID=11108]

Sl. No.3
QBID:1007153

“Because of bad weather the mountaineers are in a quandary.”
From the following options pick the correct synonym of the word in italics.
(1) Quiet (2) Panicked

(3) Anxiety {(4) Dilemma

(1) 1
(2) 2
(3) 3
(4) 4

HFH A AT G AW FE T FE B

(1) = (2) 9mE
(3) g (4) wTUEH

11
(2) 2
(3) 3
(4) 4
1[Option ID=11109]
2[Option ID=11110]

3[Option ID=11111]
4[Option ID=11112]

Sl. No.4
QBID:1007154

Which tense 1s used for habitual actions?
(1) Present progressive (2) Simple present

(3) Present perfect (4) Present perfect progressive




(1) 1
(2) 2
(3) 3
(4) 4

Fefetad # 7 wg a0t e 75 g

(1) SR 2) i
(3)  FTHEI (4)  TFFAH
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11113]
2[Option ID=11114]
3[Option ID=11115]
4[Option ID=11116]

Sl. No.5
QBID:1007155

Match List I waith List IT.

List I List IT
(Word) {(antonym)
(A) tardy (I}  warm
(B) wvalidate (II) nervous
(C) tepid (III) refute
(D)  unruffled (IV) prompt

Choose the correct anawer from the options given below :

(1) {A)-(III). (B)-(IV). (C)-(D). (D)-(II)
(2) (A)-(IV). (B)-(II). (C)-(I). (D)-(I1T)
(3) (A)-(III), (B)-(IV). (C)-(ID). (D)y-(I)
(4) {(A)-(IV). (B)-(IIL). (C)-(I). (D)-(1I)

(1) 1
(2) 2
3) 3
(4) 4




Ffeatag S+ s9aE vd 98 F9 5 e

(A)  WHE A By FEGET 6 HT

®) Tt = g o, F et

(C) 7 & UM soAfavaTE [ =R [ wifer
D) =4 =TT TE

(E) #ft #7 s w1 w72 2 artee ek

4= fgu o fawea 4 O gE I w1 999 Fifeu

(1) (A). (E). (C). (B). (D)
(2) (A). (B). (D). (E). (C)
3 (B). (C), (E), (D). (A)
(4) (C). (D). (B). (A). (E)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11117]
2[Option ID=11118]

3[Option ID=11119]
4[Option ID=11120]

Sl. No.6
QBID:1007156

Pick out the correctly spelt word

(1) prenunciation (2)
(3) prunniciation (4)
(1) 1
(2) 2
(3) 3

(4) 4

pronanclation

pronunclation




Hr 51 FYF for T : vF ATYHYA (Assertion (A)) % 9 ¥ fafigd # a7 g8 386 FAW (Reasons (R))

HEGH
HTHE (A) Tl G S 2 A1 T Hiars whi S SH SehE 619 9 ug) e 2
FE7 (R) FHFAT HIT I GEER FES A H WY Fa & o T 96T SR o S 2

I HYA + AT H, Fi9 5 T e § 9 58 39 0 =999 it

(1)  (A) 3 (R) TH O3 & 11 (R), (A) Fi H&l =men 2

(@ (A 3 (R)FE A 7, @ (R), (A) F = =wen 765 2
3  (A)F &, 9 (R) 78 2

4) (A ¥Ee 2, S (R) 2

1)1
(2) 2
(3) 3
4) 4
1[Option ID=11121]
2[Option ID=11122]

3[Option ID=11123]
4[Option ID=11124]

Sl. No.7
QBID:1007157

From among the four options given. choose the most appropriate sequence for the four
phrases given below. to make a meaningful sentence

(A) by chance

(B) the occurrence of something pleasant
(C) that happens unexpectedly or
(D) the word serendipity means

Choose the correct answer from the options given below :

(1) (C). (A). (B). (D)
(2) (B). (D). (A). (C)
(3) (D). (B). (C). (A4)
(4) (A). (C). (D). (B)




(3) 3

(4) 4

Ffafad 4 @ < wg a9 fofea fifsw
(A) T T g aed a2

(B) Al 99 F 9o 9 B

(C) il =& § wed) e 2|

(D) ®a ° wd 9yd i 331 AT |

(E) S 9T g 99H Sl 31 AT

= Teu U fEHedl § O O I F 999 i

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

A (A) 3 (B)
Fae (C) #1 (E)
Fad (A) 3R (D)
“as (B) 3R (D)

1[Option ID=11125]
2[Option ID=11126]
3[Option ID=11127]
4[Option ID=11128]

Sl. No.8

QBID:1007158

Identify the correct form of indirect speech of the following sentence.

The magistrate said to the lawyer. “You should submit yvour evidence now".

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

The magistrate asked the lawyer to submit his evidence then.
The magistrate told the lawver that he should submit his evidence then.
The magistrate told the lawyer that he must submit his evidence now.

The lawver requested the magistrate to subnut his evidence then.




S e S e o e e B

(1) =l (2) oTaH

(3) =W 4 fog

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11129]
2[Option ID=11130]

3[Option ID=11131]
4[Option ID=11132]

Sl. No.9
QBID:1007159

Choose the correct option to make a meaningful sentence.

Ashok did not that his friends would desert him when he would need them the
most.
(1) Assent (2) Accept
(3) Except {(4) Expect
(1) 1
(2) 2
(3) 3
(4) 4
i1 % =g g=-I1 =1 T =it
-1 11
Ei THEETE
A) == M =i
(B) 94 (IT) =Ar=nre
(C) o=. (IIT) e
(D) =3fem (IV) ===
4= fgu o fgweai 4 O uE I W 999 fifen

(1) (A)-aID), (B)-ID). (C)-aV). (D)-I)
2y  (A)-AV). (B)-(IID), (C)-(I), (D)-(II)
(3) (A1), (B)-ID. (CO)-(III). (D)-(IV)
4y (A)-dD. (B)-(D. (C)-(IV). (D)-IID)

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=11133]
2[Option ID=11134]
3[Option ID=11135]
4[Option ID=11136]

Sl. No.10
QBID:1007160

Choose the correct passive voice of the following sentence.
People say that children are afraid of ghosts.
(1) It has been said that children are afraid of ghosts.
(2) It 1s believed that children are afraid of zhosts.
(3) It 1= often said ghosts are afraid of children.
(4) It 1s said that children are afraid of ghosts.

1)1

(2) 2

(3) 3
(4) 4

Frefetias @ @ SERitEAT 9E=T

(A) T = G I

(B)  TI'E H HIE 9T

(C) =i =4 4 54 @

(D)  diefi St | A8 Heera

(E) M WA

Fra fou o famweat @ O oF I w1 9= Fifse

(1) a4 (A). (B) @R (E)
(2)  FaEa (B). (C) 3k (D)
(3)  Fad (A). (C) 3 (D)
@) ¥4 (A). (D) 3 (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11137]
2[Option ID=11138]

3[Option ID=11139]
4[Option ID=11140]

Sl. No.11
QBID:1007161




What was the name of the constituency wherefrom Jawaharlal Nehru won Lok Shabha
election thrice?

(1) Allahabad (2) Raebareli
(3) Phulpur (4) Barabanki

(1) 1
(2) 2
(3) 3
(4) 4

TEATEET AFE A SE-AE | AR S g4 A1 4R A 47

(1)  someEmR (2)  TEEE
(3) FAX (4) =HEH

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11141]
2[Option ID=11142]

3[Option ID=11143]
4[Option ID=11144]

Sl. No.12
QBID:1007162

The National Achievement Survey (NAS) in its 2021 survey stated that the national mean
score in English has :
(1) mmproved by 24 marks
(2) decreased by 56 marks
(3) has remained the same as that of the previous vear
(4) mmproved marginally
(1) 1
(2) 2

(3) 3
(4) 4

T SuEley HAEY (WR.0wE, ) 4 S 2021 % "0 § S 46 SUE § T8 5 HE -

(1) 24 37 9 =57 T 2| (2) 56 37F 92 T &
(3) Tuzs 99 % 9uE # 7 (4) =r=T e R
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=11145]
2[Option ID=11146]
3[Option ID=11147]
4[Option ID=11148]

Sl. No.13
QBID:1007163

Swedish film director Ruben Ostlund won Palme d'Or for his film titled :

(1) The Triangular Mountain {(2) Triangle in Square

(3) Triangle of Sadness (4) Tnangle of Joy

(1) 1
(2) 2
(3) 3
(4) 4

=iz % 5" oo =e4 sAze-s 4 w1 78 T5en + v W 13 917 (Palmed'or) THRE @1 7

(1) T 2R HI5-2A (2) ZEEATA 3
(3)  TIEUATE ATE d=AH (4) ZTETATA SATF Aie
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11149]
2[Option ID=11150]
3[Option ID=11151]
4[Option ID=11152]

Sl. No.14
QBID:1007164

What is done to mask an Aadhaar Number?

(1) Replace the first four and the last four digits with characters.
(2) Replace the last eight digits with characters.

(3) Replace the first eight digits with characters.

(4) Replace the six middle digits with characters.

(1) 1
(2) 2
(3) 3
(4) 4




AT HEA T99H % few == o =i 27

(2)  AfE A FH B AW H AGEANGT F A A= 2
(3) UEel 33 W1 F I O WiGEeniea K 5 S 2
(4)  OET F T FF H A WG T e 2

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11153]
2[Option ID=11154]

3[Option ID=11155]
4[Option ID=11156]

Sl. No.15
QBID:1007165

Which organization has won Nobel Prize three times?

(1) European Union
(2) International Red Cross Society
(3) United Nations

(4) National Dialogue Quartet

(1) 1
(2) 2
(3) 3
(4) 4

(1) 7= ==

(2)  HAGEEE 15 wE AEEd
(3) HIE T

(4 ™ =99 T4

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=11157]
2[Option ID=11158]
3[Option ID=11159]
4[Option ID=11160]

Sl. No.16
QBID:1007166

Film Directors work hard and get exhausted. Prakash hates exhaustion and hence. Prakash
does not want to be a film director.

Which one of the following has the opposite logic?

(1) People who go for walk are healthy. I do not want to go for walk and I am not healthy.

(2) Politicians are generally talkative. but I am not so. though I am a politician. not by my
choice.
(3) A Soldier's life 1s full of dangers. but military 1s never short of manpower.

(4) There 1s no substitute for hard work.

(1) 1
(2) 2
(3) 3
(4) 4

Ton e 31 Hed a2 A 9 W 7| TR e H O Al B S SEeT, T (e e 6
AT =TEAT 2

i~ i~ ,z-\r 'Ei"‘ﬁ'f.:l_‘h O ."l: l‘r~ qu':l%?

(1) =7 & Z8eH 9 7 F T 7 21 # ZeeH Tl S oEal SR # = 6 R

(2) TS S HEE: S B 7, o o U TE 7| BetE | OeEias &, WA T A s
o ==

(3) U Ulw =1 SEd @Al ° 9 26l B, A 5§ B w0 Al il w1 A8 2|
(4)  ofsm =1 FE A T8 2

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11161]

2[Option ID=11162]

3[Option ID=11163]
4[Option ID=11164]

Sl. No.17
QBID:1007167




A man walks 6 km towards the North. then turns towards his left and walks for 4 km. He
again turns left and walks for 6 km. At this point he turns to his mght and walks for 6 km.
How many km and in what direction is he from starting point?

(1) 10 km and West (2) 6 km and South
(3} 4 km and South (4) 8 km and West

(1) 1
(2) 2
(3) 3
(4) 4

uF FEHt I F AR 6 T T | 30 9 9 96 9N ge 4 el aea 21 9w e a e g 2
3R 6 Tt =iar 2| @@ 97 T ga1 2 R 6 TRt T 2| 97 @ TeE fag ° et o 2 o

i~

T HEY

(1) 10 Tt 3 afv=m (2) 6 Tl 37 =tam
(3) 4 Tt wilT ofeqm (4) 8 Tt =7 ufram
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11165]
2[Option ID=11166]
3[Option ID=11167]
4[Option ID=11168]

Sl. No.18
QBID:1007168

A.B. C. D. E. F and G are sitting in a line facing the East. C 1s the immediate right of D. B is
at an extreme end and has E as his neighbor. G is between E and F. D 1s sitting third from
the South end. Who are the persons sitting at the extreme ends?

(1) Aand E 2y AandB
(3) Fand B (d) CandD
(1) 1
(2) 2
(3) 3

(4) 4




A B.C.D.E.F 3R G Wa # foon d 4z %% v o 4 93 2| D % o= aifed C 31 B v sAf=m
W 7 At E 39%1 9=l 21 E A F & o9 5 G 21 D gianl il 9§ =@ 9 s 2| At 5w we
AR WS £ 7

(1) A3RE (2) A3RB
(3) F 3 B (4 C3RD

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11169]
2[Option ID=11170]

3[Option ID=11171]
4[Option ID=11172]

Sl No.19
QBID:1007169

In the question statement and assumptions are given. Consider the statement and choose the
correct option on the basis of the assumptions.

Statement : The budget of Transport Corporation 1s in deficit. The Corporation has decided
to increase the ticket rates for travel.

Assumptions : (1) The travel rates are verv low.

(11) If the travel rates are not increased. deficit cannot be met.

(1) Only assumption (1) 18 impheit.
(2) Only assumption (1) 15 implicit.
(3) Both assumptions (1) and (11) are impheit.
(4) Neither assumption (1) nor (1) 1s implicit.
1)1
(2) 2
(3) 3

(4) 4




= U § T 3R qEI-9WO 4 5% 3| 9T W EER FF H-gRE F IR W ¥E =EeT # 99
rﬁlr;:”.\l

7 qftasd e = w9 g | 21| Fm S A # o fewe-ow 1 gfg # ol fen 2
TE-UEOW (1) I A aRd 74

(i) e A= # gy 7 A A, d g A
(1) e qE-awm (1) F st 2
(2)  hael TH-9EI (ii) F I 2
(3) = - (1) 3R (D) Tt 2
@) AT gE-aEm ) A A (i) -
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=11173]
2[Option ID=11174]
3[Option ID=11175]
4[Option ID=11176]

Sl. No.20
QBID:1007170

Ram said to Ashok that the woman standing in front of him has a grand daughter who 1s the
only daughter of myv brother. How 1= woman related to Ram?

(1) Aunt {2y Mother

(3) Wife (4) Grand Mother
(1) 1

(2) 2

(3) 3
(4) 4

T 4 FE § FE F IHF G0 @S0 OiEe # UF 9id) 2 A 9 9IS i Sheldl 591 2| 39 Higdl &1 09 9
T T 7Y

(1) == (2) =T
(3)  ue (4) =
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=11177]
2[Option ID=11178]
3[Option ID=11179]
4[Option ID=11180]

Sl. No.21
QBID:1007171

A tube can fill a tank completely in 18 hours. After half the tank 1s filled. one more similar
tube 1s opened. What 1s the total time taken to fill the tank completely?

(1) 13 hrs 10 min (2) 14 hrs 30 min
(3) 14 hrs 20 min (4) 13 hrs 30 min

(1) 1
(2) 2
(3) 3
(4) 4

wF Fofl UF FF B gAd: 18 02l W WAl 2| FF F AT W A % UTEI, TEF S UE 6 el |
&t | 9 BT WA | o Fel a9 T 2

(1) 13 92 10 fo9e (2) 14 92 30 {52

(3) 14 92 20 e (4) 1392 30 A=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11181]
2[Option ID=11182]

3[Option ID=11183]
4[Option ID=11184]

Sl. No.22
QBID:1007172

Seven girls can do a piece of work in thirteen days. six boys can do the same piece of work in
twelve davs. nine men can do the same pilece of work in nine davs and six women can do the
same piece of work in fourteen days. Who are the most efficient?

(1) Girls (2) Women
(3) MMen {(4) Boys
(1) 1

(2) 2

(3) 3

(4) 4




7 SSta1 T % i 13 o7 § % whdl £ 6 w75 361 FE i 12 709 3 % W £ 9 7FY 3H1 FE w9
e g qun 6 gisene 36t F i 14 57 0 92 Ghdl 21 FIF g9d 53 77

(1) === (2) HlEem
(3) (4) =%
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11185]
2[Option ID=11186]
3[Option ID=11187]
4[Option ID=11188]

Sl. No.23
QBID:1007173

A man and a boy received Rs. 1.600 as wages for 5 days for the work they did together. The
man's efficiency in the work was three times that of the boy. What are the daily wages of the
boy?

(1) Rs. 152 (2) Ra 112
(3) Rs. 88 (4) Rs. 80

(1) 1
(2) 2
(3) 3
(4) 4

TF FAfE AU OF FSH UF @Y 5 o7 FE FH F o g9gh €. 1,600 96 7| SA0E 2@d 95 | 7 =
oft| =5 it ufareT =1 Tl 27

(1) E, 152 2y = 112

(3) %, B8 (4) =% 80

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11189]
2[Option ID=11190]

3[Option ID=11191]
4[Option ID=11192]

Sl. No.24
QBID:1007174




How many kg of rice at Rs. 60 per kg. must be mixed with 30 kg of rice at Rs. 25 per kg. so
that the shopkeeper may make a gain 25% on selling the mixture at Rs. 50 per kg?

(1) 22.5 ke (2) 23.5kg
(3) 24 kg (4) 245kg
(1) 1
(2) 2

(3) 3
(4) 4

30 T, =mae %, 25 WiaERan, 95 30 T =Eel WY s, 60 WA 9 e T =EE e o
TFFGR Y F1 F, 50 W R A= W 25% F A o 0

(1) 22.5 T (2)  23.5 FFm

(3) 24 T (4) 24.5 TFm

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11193]
2[Option ID=11194]

3[Option ID=11195]
4[Option ID=11196]

Sl. No.25
QBID:1007175

A sample of X litres from a container having a 60 hitre mixture of milk and water containing
milk and water in the ratio of 2 : 3 1s replaced with pure milk so that the container will have
milk and water 1s equal proportions. What 1s the value of X?

(1) 6 litre (2) 10 hitre
(3) 30 litre (4) 12 hIitre

(1) 1
(2) 2
(3) 3
(4) 4

U G A 2 1 3 % A A WiE gu a9 9 % 60 witer Weaw # ¥ X ofiex 1 uh A, ug g9 @ 9
oo T A SR A g9 3 O IEE A9 A w1 X F A = a e

(1) 6 et (2) 10 ==
(3) 30 = (4) 12 =
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=11197]
2[Option ID=11198]
3[Option ID=11199]
4[Option ID=11200]

Sl. No.26
QBID:1052001

TERT T, T, SR dg = ufh: e wafy -

(1
(3)

HTRIT Hel (2)
¥ Hel (4)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10501]
2[Option ID=10502]

3[Option ID=10503]
4[Option ID=10504]

o
ST Fd

Sl. No.27
QBID:1052002

fafen o vt -
IHTTEH, (2)
HHEH, (4)

(1)
(3)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10505]
2[Option ID=10506]

3[Option ID=10507]
4[Option ID=10508]

Sl. No.28
QBID:1052003

qitwemrar: we fefar waq -
T - T (2)
gfam - ST (4)

(1)
(3)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10509]
2[Option ID=10510]




3[Option ID=10511]
4[Option ID=10512]

Sl. No.29
QBID:1052004

TS 3EGY - UcHeRy TIfEd -
(1)  affm: (2)
(3) W (4)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=10513]
2[Option ID=10514]

3[Option ID=10515]
4[Option ID=10516]

Sl. No.30
QBID:1052005

Soipefmiorossy w3 @ -
() emEe: (2)
(3  dhs: (4)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10517]
2[Option ID=10518]

3[Option ID=10519]
4[Option ID=10520]

Sl. No.31
QBID:1052006

yoreTet eferfaasdy wiagEfs -
(1)  waatmtmg (2)
(3) dEEEH (4)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10521]
2[Option ID=10522]

3[Option ID=10523]
4[Option ID=10524]

Sl. No.32
QBID:1052007




T gEAEETe T wwew fifer e R e weeEtE -

1y fiEme:

(3 T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10525]
2[Option ID=10526]

3[Option ID=10527]
4[Option ID=10528]

(2)
(4)

HHTTH:
=4

Sl. No.33
QBID:1052008

sreereaTegT yfH: % Ha g et -

(1) ST S
(3) v Fd

(1)
(2)
(3)
(4)

A W N =

1[Option ID=10529]
2[Option ID=10530]
3[Option ID=10531]
4[Option ID=10532]

(2)
(4)

T %
G Fd

Sl. No.34
QBID:1052009

St s -

(1)  Foffiaass gyesE:

(3)  ofire e

(1)
(2)
(3)
(4)

A W N =
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Tt fased fam
(A)-(1), (B)-(IID), (C)-(T), (D)-(IV)
(A)-(IIT), (B)-(I1), (C)-(I), (D)-(IV)

(A)-(IV). (B)-(I1D), (C)~(1I), (D)-(D)
(A)-(IV), (B)-(1D), (C)-(D), (D)-(I1T)

1[Option ID=10753]
2[Option ID=10754]
3[Option ID=10755]
4[Option ID=10756]




Sl. No.90
QBID:1052065

gegas U $54 |

g1 -1
(A) cafere: (D) FSATTEWT,
(B) wmifeame: (I)  H=hTegeT
(€) TwEfaEE: (1) T -
(D) Frafeere: (IV) Tirga, sem
Tt faswed faaal

(1) (A)-(LLI), (B)-(I). (C)-(IT), (D)-(IV)
(2) (A)-(I11), (B)-(IV), (C)-(I), (D)-(1I)
(3) (A)-(I1), (B)-(I), (C)-(I1T), (D)-(IV)
(4) (A)-(IV), (B)-(IIL), (C)-(I), (D)-(IL)

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=10757]

2[Option ID=10758]

3[Option ID=10759]
4[Option ID=10760]

Sl. No.91

QBID:1052066
Y FUAGE TaEd | U SteeE fefgante fgdme o wromu -
ATFIA (A): T FEF A1 9A95TH 91 95 SRR 30EaE FE)
F10H (R) Ie: FeHAT SRV T WG A |

ﬂh.r.-’, 'r-‘_r1

(1) (A), R) =93 T=H 9 (R), (A) 7% =aw=n At
2 (A, R) 393 T=H 9 (R), (A) T9=9% =aw=n 1|
(3) (AT fFg R) wE=m

4 (A ¥me T (R) Tegat

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=10761]
2[Option ID=10762]
3[Option ID=10763]
4[Option ID=10764]

Sl. No.92
QBID:1052067
AY: FUIT THEd| TR AR [AiEane GaEEa T mRuET -

AqFE (A): TGS AR AT SRS, THavE e e 9|

=+ (R) Ie: TEFHT BYH 3 FA1 TR gHEET |
.ﬂ.ﬂ'("" 'f'ul

(1) (A, (R) 399 T g (R), (A) =% == A=)
(2) (A, (R) 399 o= g (R), (A) T=9% =ame 1|

(3) (A) @ T (R) &—=9
4) (A 3\ %4 (R) Fogmta

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10765]
2[Option ID=10766]

3[Option ID=10767]
4[Option ID=10768]

Sl. No.93
QBID:1052068
qigaer e Fodl
i1 gfi-11
(A) wmEmTEy Haifl () s aftarery
(B) aifrrer wwifr (I ez
(C) dvaeg i (111w
(D) S i (IV) FHtesmafirsaaemt
Tt fashed faa

(1) AL, B-1, C-1IV, D-11
(2) A-1, B-I11, C-I1, D-IV
(3) A-IV, B-11, C-111, D-1
(1) A-II1, B-11, C-1V, D-1




(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=10769]
2[Option ID=10770]

3[Option ID=10771]
4[Option ID=10772]

Sl. No.94
QBID:1052069

Team: FHHT: HHI: T -

(A)  TEERNYE:
(B)  H=~=ImEiem:
(C)  weraatum:
(D)  AFATETHE:
aeftefige faa

(1) ACDB
(2) B,D,C.A
3 CABD
49 CADB
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=10773]
2[Option ID=10774]
3[Option ID=10775]
4[Option ID=10776]

Sl. No.95
QBID:1052070




FH 1 TS ATSATS TS |

FOA I1:  wTeAiaeRe TarT: SEEn |
\.v-.---r'~'J -r-ul

(1) I II399Fas acaq #1t|
(2) I, I1 39aqg-aq =1
(3) Iy g0, 11 FoH9 o0y S|

(4) I %9 #35eq 7 11 #2F Teaq 0 |

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=10777]
2[Option ID=10778]

3[Option ID=10779]
4[Option ID=10780]

Sl. No.96
QBID:1052071

AL FHFGAANASE I To@d -
FoFH I ;@I T ST EEeERT q orE|

Foeg I1: ST 39 e AHEE T
.n.ﬂ'fr;?ll-r_-ru |

(1) I I 39999 T09q #10=|
(2) I, II S9y=gocag =)
(3)  I=w m=m, II F999 T8 A= |

(4) I =y 3@e W I F2F Feag A1)
(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10781]
2[Option ID=10782]
3[Option ID=10783]
4[Option ID=10784]

Sl. No.97
QBID:1052072

(A) B LSIGE
(B) = T 1
(D) HMHEZIYIH

(E)  FIHEIT:

i A = |

(1) Fa=D
(2) Fa= B
(3 HFaaE
4 FaaC
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=10785]
2[Option ID=10786]
3[Option ID=10787]
4[Option ID=10788]

Sl. No.98
QBID:1052073




4) e E
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10789]
2[Option ID=10790]
3[Option ID=10791]
4[Option ID=10792]

Sl. No.99
QBID:1052074

FYTCATN A 31 TorEd -
Forq I  SEESEEEE AT uAn aY S He

FuH I1: g THIeH Ses SRV 399 Faid |
Terpey w5

(D I. II 39999 98 31|
(2) L II s9=maeay S|
(3) I o acad, 11 F999 Jcaq A |

(4) 1=y e W I %2 T30y wfe)

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10793]
2[Option ID=10794]
3[Option ID=10795]
4[Option ID=10796]

Sl. No.100
QBID:1052075

Foeg [ HEesmed AT Foges Fegeys Fene giageat |

Fog 11 9o SiEesed THeE AT A T e T
Ty A =)

(1) 1. II 9= Geaq =10 |
(2) L II39y=macsy 31|
(3) I =499 9099, 1 %39 9caq 310 |

(4 I=u zEem 9 1% HJeaq At

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10797]
2[Option ID=10798]

3[Option ID=10799]
4[Option ID=10800]




